y 4 MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
P"' Pg de la Ribera, 29 - Granollers (Barcelona) SPAIN
info@puig.tv - info@puigusa.com

Racing Screers

www.puig.tv - www.puigusa.com

V-TECH TOURING PARA - TOURING V-TECH FOR - V-TECH TOURING FUR
KYMCO
XCITING 400 ‘17- / Gz

-
Fécil - E

S acil - Easy

- Media-Intermediate

1 persona . Dificil-Difficult

1 person 15 min

. | PIEZA / PART DESCRIPCION DESCRIPTION

1 Pantalla Windshield 1 9864F/H/N/WM3

5 gr;gj;lgxc;nr;i;a de plastico Sighxe?6x5mm plastic conical 4 ARANDENND20-030
3 Tornillo allen DIN7991 M6x22 DIN7991 M6x22 Allen screw 4 | TORNI-D7991-427
4 Casquillo con valona @15x@9x7,5 D15x@D9x7,5 spacer with flange 4 | CASQUI-1A---324

5 @ Silentblock @18x@11x7,5 @18x@D11x7,5 silentblock 4 SILENBGONE--064

6 @ Tapén tornillo M6x22 1SO7991 M6x22 1ISO7991 screw cap 4 | TAPON-------- 81

Pg. 1/3

Created by: www.rrdisseny.cat



A MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
P”'g Pg de la Ribera, 29 - Granollers (Barcelona) SPAIN
. info@puig.tv - info@puigusa.com
Racinng Screerrs www.puig.tv - www.puigusa.com

V-TECH TOURING PARA - TOURING V-TECH FOR - V-TECH TOURING FUR
KYMCO
XCITING 400 ‘17- / G=

Tornilleria original Tornilleria original
(Al Griginal soe [A] s
Original screws

Original screws

Pg. 2/3



y 4 MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
P"'g Pg de la Ribera, 29 - Granollers (Barcelona) SPAIN
. info@puig.tv - info@puigusa.com
Racing Screens www.puig.tv - wWww.puigusa.com

V-TECH TOURING PARA - TOURING V-TECH FOR - V-TECH TOURING FUR
KYMCO
XCITING 400 ‘17- / G=

ONLY FOR: XCITING '17-

REGULAR SOPORTES B HASTA COINCIDIR
CON AGUJEROS PANTALLA.
ADJUST B BRACKETS UNTIL MATCHED
WITH SCREEN HOLES.

Pg. 3/3



